Question 1 — Basic Arithmetic, Algebra and Equations - (12 marks)

Start a new booklet

C R_AN B m O I < ’ For parts (a) and (b) select the most appropriate answer from A, B, C, or D,

a) If x=-3 and y =4 which of the following statements is true: 1
SCHOOL ‘ ' ‘

A fo+yl=h -
B. |x+y]<|x|—|yl

Year 11 (ZU) Mathematics - o c. Je+i]> -]

D. |x+y]z|x!—ly| '

S _ ' b) Solve 3 =27 i
Term 1 Examination o
March, 2012 _' E Box=6
c. x=0
D. x=12

4(x-3)+y(x-3)

Time Allowed: 1.5 hours plus 5 minutes reading time 9 Simplity ————
- TO tal Ma l'k S: 48 . d) Solve the following:
' i) |7x-1| =34 ' 2
There are 4 questions, each of equal value. I | . ’
Start a new boollet for each question. i) 3x2 =11x+4 2
All necessary working should be shown in every question. iy 12 +9k+1420 . )

Full marks may not be awarded if wotk is careless or badly atranged.

. 2 =0 usi ati
Approved calculators may be used. v iv) 6x° 4 5x — 2 =0 using the quadratic formula 2




Question 2 — Surds and Indices (12 marks) d o _ AV
Start a new booklet ) Expand and simplify (5 ﬁ)

For parts (a) and (b) select the most appropriate answer from A, B. C. or D.

€) Solve for zand b if ﬁﬁﬁ =a+ b\/ig
a) Simplify '\/—27'{' \/7—5 —+/243 1
A 141 b 5k)’
Simplify 257
B. —+141
3
“ ﬁ g) Evaluate M ’ if k=8andw=2
(9)” % (k)"
p. -3
b) What must you multiply 3 by to rationalise the denominator? 1
P ﬁ— \/E ) i
V5 ++2
a V542
V5-2
n A2
2
C \/g + \/i
V52
D \/g + \/:_2_
¢) Simplify the following:
D) (SJE )2 ) ' _ 1
i) 2= “/5 2

3




Question 3 — Linear Functions (12 marks)

Question 4 — Functions and Graphs (12 marks)
Start a new booklet ’

Start a new booklet

For parts (a) and (b} select the most appropriate answer from A. B. C. or D. For parts (a) and (b) select the most appropriate answer from A. B. C. or D.

) What is the gradient of the Jine perpendicular to the line 2x+3y~5=0 1 :
a) If f(2)=-1and f(~1)=—4 then f(x) canbe } 1
a -2 _ A x°
3 B. x+3
5 c x*-5
B. = D. —(x-5)°
; (x-5)
C. é b) Which of the following are even functions? 1
2 A fE)=x+3
1 : B. f(X)=x"+x"
D. —E . ’ 1
c f)=—5——7
X —Xx
b) The x-intercept of the line 2x+3y—5=0 is: 1 D. Allof the abave
A5 o
X -
5 o If fx)= find;
B. 3 Nx+1
‘ b /() . 1
5
C. —
2 iy x if f(x)=0 1
5 .
D ——
2
d) Sketch the following functions
D f(x)=4x-8
. 2
¢) Find the equation of the line that goes through the point A(3,-4) and is parallel to the line } =_x -1 : 2
3 2 : i f(x)=3x—x s
d) Find the equation of the line that is the perpendicular bisector of the interval joining the points R(-1,5) and 2 )
§(3,-2). Leave your answer in general form. 3 i) f(x)=06x" +x-12 3
¢) Find the perpendicular distance between the line = x4-5 and the point A(4,7). 2
Leave answer in exact form with a rational denominatoy.
. END OF ASSESSMENT
f) Find the equation of the line through Q(2,-5) and the point of intersection of the lines

2x+3y-13=0 and 3x—y-3=0. 3
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